5184E BHIRRBED A
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JE AL K % ouT IN GR HDCP | NET "E B MRz K £ ouT IN GR HDCP | NET -3 B
101 | =& F] 52 | 55 | 107 |30.0 |77.0 1500P 151 |6 =280 62 | 79 | 141 |58.8 (82.2 1500P
102 |RE & 44 | 44 | 88 |10.8 |77.2 1500P 152 |RE & 60 | 52 | 112 |28.8 (83.2 1500P
103 |BE IEST 50 | 44 | 94 |16.8 |77.2 1500P 153 |#fep M 54 | 50 | 104 |20.4 |83.6 |BB 2000P-E
104 |hhft EF 51 | 55 | 106 |28.8 |77.2 1500P 154 {RT#EE xiE 57 | 64 |121 |27.6 |93.4 |E4ET P31
105 | T8 &8 47 | 46 | 93 |15.6 |77.4 Bl

106 |HE HR 48 | 45 | 93 |15.6 |77.4 1500P

107 |RéT ST 47| 52 | 99 |21.6 |77.4 1500P

108 |#iE = 51 | 48 | 99 |21.6 |77.4 1500P

109 |[BZ2E ERY 53 | 52 | 105 |27.6 |77.4 1500P

110 /Mg #84t 54 | 51 | 105 |27.6 |77.4 E—IL

11 |Al e 53 | 58 | 111 |33.6 |77.4 1500P

12 |hft fE— 43 | 43 | 86 | 8.4 |77.6 1500P

13 |#ik BAE 48 | 44| 92 |14.4 |71.6 1500P

14 |58 hHY 58 | 52 | 110 |32.4 |77.6 1500P

15 |& i 46 | 51 | 97 |19.2 |77.8 be:3ins

116 |[BE EA 48 | 49 | 97 |19.2 |77.8 1500P

17 R Z— 49 | 54 |103 |25.2 |77.8 1500P

118 |E@ —A& 52 | 51 | 103 |25.2 |77.8 |=7E"14H 2000P

19 |#K ®A 53 | 50 | 103 |25.2 |77.8 1500P

120 | K& & 53 | 50 | 103 |25.2 |77.8 E—L

121 |#MA BE 55 | 48 | 103 |25.2 |77.8 1500P

122 |B%& &= 48 | 47 | 95 |16.8 |78.2 1500P

123 |ATA  ZEX 53 | 54 | 107 |28.8 |78.2 1500P

124 | &=/ EE 44 | 50 | 94 |15.6 |78.4 1500P

125 |7 &k’ 47| 47| 94 |15.6 |78.4 e

126 |#1/R  F0fg 45 | 42 | 87 | 8.4 |78.6 1500P

127 |BiB X 45 | 54 | 99 |20.4 |78.6 1500P

128 |k HEBE 51 | 48 | 99 |20.4 |78.6 1500P

129 |2 1E 51 | 54 | 105 |26.4 |78.6 1500P

130 | &R B& 59 | 51 | 110 (31.2 |78.8 E—JL

131 2R ¥X3 48 | 43 | 91 |12.0 |79.0 1500P

132 |[&h & 47| 50 | 97 |18.0 |79.0 1500P

133 8 =& 52 | 51 |103 |24.0 |79.0 1500P

134 g RZB 47 | 55 | 102 |22.8 |79.2 1500P

135 |R¥F &% 58 | 62 | 120 (40.8 |79.2 R

136 |58 == 53 | 48 | 101 |21.6 |79.4 1500P

137 |#EKRK £ER 61 | 57 | 118 |38.4 |79.6 1500P

138 [fLl =34 53 | 52 | 105 |25.2 |79.8 1500P

139 K =88 55 | 50 | 105 |25.2 |79.8 1500P

140 A EE 46 | 45 | 91 |10.8 (80.2 E—IL

141 KT X 50 | 53 | 103 |22.8 (80.2 1500P

142 | A &E 47 | 55 | 102 |21.6 |80.4 1500P

143 [T 53 | 48 | 101 |20.4 (80.6 1500P

144 |Eth F— 47 | 47 | 94 |13.2 (80.8 1500P

145 |HLE BB 56 | 56 | 112 (31.2 |80.8 R

146 | B8 = 48 | 45 | 93 |12.0 (81.0 1500P

147 |HER #5098 47 | 45| 92 |10.8 |81.2 |ZFEV17H 2000P

148 |88H 2% 47 | 51| 98 |16.8 (81.2 1500P

149 |4 B— 54 | 56 | 110 |28.8 (81.2 1500P

150 |AEF #6= 51 | 51 | 102 |20.4 (81.6 E—IL
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